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1. Write s rubs for the line thit contan rn-pu-nql:l.fr-ﬂii%. lf].
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& Idenitiby I more poants on this ne, Bhen draw @ on the grid Bilow,
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B Write o rule for @ e that i parallel
to BT, and goes through point (1, .

« 18 3 less Hhon y.
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& |dentify I more pomnts on this line,

Ehese drassy it oo the grid at right.
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B Write a rule for & lme that passed thicugh the cngin and e between BE and GH.
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3. Create a rube for a line that contains the paint |, 15} using the operation or description below. Then

raaemee } pthuer pounts that would fall on each lene.
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&, Mirs. Boyd askoed her students to give & fule that could
describee o e that contains the pont (0.6, 1.8). Aw
il thee rigke could be, "multsply x by 1°. Erra cladma
coiild be & vertical line and the ruls could be, " i
abwimys 0U6%. Erik thimks the rule could be, “Add 1.2 19
X", Mrs. Boyd saws that all the lines they are describing
could describe a lne (hat containg the point she gae.
Explain how that s possible and deaw on the

coprdmate plane Lo Suppart your Pesponse.
Mrs. Bead mhj opue i F-mn‘l'{_E'\"

o the Lwne . Lots of lines could contanin
Lot Cany +ell +he rule -Fg;l" +he line

1‘

*..

nat peint. Withadt 2 portts



Challenge:
5. Create a mixed operation rule for tha line that contains the
points (0, 1) and (1, 3).
mﬂ'i'hplhi' b4 B'}I 2 -f.u"ld
add |
*

a. Mentify 2 more points, 0 and P, on this
line, Then draw it on the grid.

b. Write a rule for a line that is parallel to
OF, and goes through point (1, 2 3).
multighy X by 2
Gad 0dd 3
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